gboogoobz2o0000000

V21b OooDboboboooooooobo ecebboboobooooog

gboooobooboobboobomoobobooobooonoobooooan

obo0oooDDOooDDoDDD Fabry-Perot OO0 0D 000000000000 O0OOOOOO0O0O0O0OO0ODO
oooooooogooocecboooooooooboOooooooOoDoOoOoobooooDboOoobooooo
goooooogoogoobooobooboboboboboboboboboboboobobobobooboobooooo
gcooccbooobooooooobooooooobpoOoooooo

oo0obO0obOoo0o0ooOooOoooboOoDbOOOOO0O0ooooogoobo cCcbhoooopDooooobooooo
0000000000ooU0o0oUoOogjeccbuoioiooUooUo?UooUo0oUoOUoUOUoOOOno
000000000 pBjoo0oooo ccboooioooooooooo40obooooUoooooooo
0000000000000 000o0()00ooooO0o0o00O0(2)OoooooooooOOooOoO0OE) oo
gboooboboobooboooboboooboobooobooobooboooboooobooboobooonoo
oo0oo0oo0o0oooooooooOoboOooOOo0oooooooooObooOOOoOooooeccbooog woobooO
OO0 700 15000electrons 1O OO O0DOOOOOOO0ODOOODOOOOOOODOOOCCDOODOOOOOODO
00000000000 2Kx2KO0 CCODOOOO0O0O0ODOO3704000000000000000000

00000014000 21000electrons 0 0O OO O0OOOODOOOOODOY99.9999 000000000000
000000 X0O (1620electrons0 00 0000000000000 O0OOOOOOOOOOOOOOOOOO
goooooooooobooobooboboobobobobobobobobobobobobobooboboooo
oooooooon



